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ECONOMICS

Full Marks : 100
Pass Marks : 30

Time: 3 houfs

The figures in the margin indicate full marks for the questions
ALLOTMENT OF MARKS

PART—A / Reii—=

Q. No. 1(a~f) carries I mark each : 1x6 = 6
Q. Nos. 2-7 carry 2 marks each : 2x6 = 12
Q. Nos. 8-12 carry 4 marks each B 4x5 =20
Q. Nos. 13 & 14 carry 6 marks each  : 6x2 - 12

Total = 50

PART—B / Re—v«

Q. No. 15( a—f ) carries 1 mark each : 1x6= 6
Q'. Nos. 16-21 carry 2 marks each : 2x6 =12
Q. Nos. 22-26 carry 4 marks each : 4x5 =20
Q. Nos. 27 & 28 carry 6 marks each 6x2 = 12
Total = 50

Total (PART—A & PART—B) 50+50=100
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PART—A
Re—=
1. Answer the following as directed :
wore fraRers et Pl Tes fint
(a) What do you understand by market economy?
TER SIS I & o2
(b) Opportunity cost is also known as cost.
( Fill in the blank )
S WS T S &N AW
(AT 51 > )
(c) Define utility.
Tecaifrer e forat |
(d) What is the shape of average product curve?
G TRATH (ISP CFCAFA ?

(¢) What is the relation between marginal cost curve of a
firm and its supply curve?

AP G¥E AT T ({1 TF @ ((UE 776 2
() What is price-ceiling?
wINe w5 &2

2. What are the central problems of an economy?
HYAS 4T T TR & {2
OR / ©j41

What does a production possibility curve indicate?

e SO ([ [ ot 332
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3. Write the law of diminishing marginal utility. 2
FEPAA 2 Sorfer RRC!
OR / 991
What is complementary good? Write with example. 2
oo @ R 2 SrraerR fort |

4. What do you understand by fixed factor and variable
factor of production? 2

Besla 43 ol O ~RaSAAe Sor o 1 g2

5. State the law of variable proportion. 2
sfasae weire RiReE! fern
OR / 9341

What is market supply? How is the market supply curve
derived? 1+1=2

TR I 2 T A (@ AT BRI T =W ?

6. Write the conditions for determining profit maximizing
output for a firm under perfect competition. 2

ﬁaﬁmﬁwwwweﬁaﬁoﬁmmmmwmmﬂmm
AR AT SIS (I TEID! o |

OR / 9%d1

“Firms under monopolistic competition = produce
differentiated products.” Interpret the sentence. 2

gl afecafon IR wwsfe AP ~NdIE ¥9 BRef
@ 7 IRPIRR o @ik |
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(@) What does a budget line indicate?
s (@3 & ot 3 ?
(b) The slope of the budget line is

( Fill in the blank )
G (FF A ____|
(A5 91 =7 1 )
OR / 941

What do you understand by ‘monotonic preferences’?

R SR T R e ?

Prepare an irriaginary demand schedule and on its basis
draw a demand curve. ’

a9 FERT SN P (HR 9 WIF WR RRes qom wiitw
w5 91 |
OR / O%AT

Discuss the characteristics of indifference curve

fRaeers (¥ GRMEETR el 91 |

The following table gives total cost (TC) schedule of 4

Determine total variable cost (TVC), average variable .

(AVC), average cost (AC) and marginal cost (MC) sched 1(1:108t
e:

wq OIS AR €¥wa P IW (TC) SPdt fa ey AR
| (TVC), & ~Ree<=& I (AVC), T I (AC) g,:; m@; -

(MC) S 11 <1
Quantity of Output Q)| 0 | 1 ??7

BeamT AR (Q) | | |
Total Cost (TC) 10 | 40 | 60 | o T——
7 379 (TC) 80 | o5




10.

11.
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OR / Gl

(a) Define average fixed cost. 1
a1 & IR ke fora |

(b) When a firm produces 4 units of output, its total cost
is 40 and total variable cost is ¥20. Calculate

average fixed cost. 2

o AT 4 (B T Seoli IR Y IW =W 40 B I
P ~RSTeT IR 7w 20 5 | 16 79 T AT
(c) Draw an average. fixed cost curve. 1

GO oG &9 I ({0 R 90

Write four differences between perfectly 'competitive
market and monopoly market. 4

of 2AfSfeR ITT o o Ba TGRS TIRG! <1 foran
OR / O%91

Write the characteristics of monopolistic competitive
market. 4

TR efcaren Tee caREETR e |

Define the following : : 1x4=4
wers TP i

(a) Normal profit
e =S

(b) Super-normal proﬁt'
SIS 7S
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12.

13.
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(c) Break-even point
RE R

(d) Shut-down point
Teomw 7@ 7Y,

Briefly discuss two factors that affect supply curve of a
firm. 4

DI G A (I ool 31 161 PRFS R Fewe! e
tall
OR / &A1

Diagrammatically explain how market equilibrium is
attained. 4

TR S ST (T eI I 2 o I 90 1

(@ What is marginal revenue of a firm? ]

AfSow 9 AR = R 2

(b) i\inite the difference between revenue and profit of g
irm.

ARSI G e 31 S I ANST AEF Ny gy |

(c) For a firm under perfect competition, show th
Price (P) = Average Revenue (AR) = Marging] at
MR Revenue
of effecaem  T&RT wRefe AP gy

7 7 (P) = 7% 9 (AR) = 2% R (MR) | T9 e @



(7))
OR / w%dl

(a) Define production function. 1
el Fore e o |

(b) What does an isoquant indicate? 1
I-Teoq (iR 8 ATt 3 2

(c) The slope of an isoquant is
Zero).

(positive / negative /

( Fill in the blank with the correct option ) 1

S-Beom IR T (S / Y / ) |
(‘o Rem SRS A 91 o7 F1 )
(d) The production function for a firm is given as
O = 2I?K2, where Q is quantity of output, L is the
amount of labour employed and K is the amount of
capital employed. Find total output when the firm
employs 5 units of labour and 2 units of capital.
Estimate total output if labour employed falls to O unit
and capital employed increases to 10 units. 3

oSO G4 oS B Fo (R Q = 217K 2 T’ Q (7 Teod
o, L 0Z0r W AR W K (R T of T 1 5 NG =
qF 2 cﬁﬁ{ﬂmmﬁwmﬁwqb%emﬁwﬁ?
i TGS O (ANB2eT ZF ~Hicet i Yeieer et 10 ¢oroeat % X
P Teom A

14. What do you understand by movement along the demand
curve and shift in the demand curve? Explain with the

help of diagram. 6
SifEM (R 5o S oI @R TR e R @ 2 foas RS I
39 |
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OR / 9911
(a) What does price elasticity of demand indicate? )
iR e e i Mot 7 2
(b) Write the formula of calcillating price elasticity of
demand. _ .
Tif v Rl fRfieer St o | :

(c) What c.lo you understand by ‘elastic dema_nd> and |
‘nelastic demand” ) :

v o oF SREReERE iR e & e

(d) When the price of a commodity is ¥ 4, then 25 Units of
it is demanded. When the price increases tq T5, th
quantity demanded falls to 20 units. Calculate ;)rice |
elasticity of demand. € |
4WWWQW25(W3W@WW’&IWSW§% . 2
R 20 LA ZPT W | SR T R oy

PART—B
Re—y

15. Answer the following as directed :
wore e ot Pt Teq fan

(a) Who is known as the father of economjcgo

wefRere Pre 3 1 o A/ 2

(b) Give the meaning of statistics in plurg] sen
se.

oo ARPRUE o fora |
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(c) What is primary data? 1
i o 2

(d) Statistics deals only with quantitative data.
( Write whether the statement is True or False ) 1

sifRore R e SR oeieg [e| 369 | '
( TfReTH1 3751 ¢ fargy foran )

(e) Arithmetic mean is mostly affected by ____ .
( Fill in the blank ) 1
SR M 1 AN RS e = | |
| (1M 5T o 41 )

() Index numbers are also termed as} | |
(Fillintheblank) 1

o RYE IS T AW | |
(<R O 27T )

16. Write two importances of statistics in economics. =~ 2

RS #IRRA o1 & ford |

OR / 9311

Mention any two limitations of statistics. 2

oy R G 101 et Teay 741 |
17. Write two advantages qf direct personal investigation

method of data collection. | 9

o SR 2OTF TS SPTHA T Y1 R o o

OR / SI%[T
Write two advantages of classification of data. 2
o caAReRed 1 SR o o
[ Contd.
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18. What do you understand by class frequency ang class
interval?

I AT W R S I R g 2
OR / 91

Write two differences between discrete ang continuous
variable.

Rivtes vore wre wiRfSza Soree 151 =1(eT B |

19. Write two characteristics of a good average,

O ST%9 Y51 CIfRy forat |

20. Write two merits of mode.
e 01 Ry B |

21. Write the formula of calculating median for ¢
frequency distribution.

i el Rerema cvae TR e STachy fapgy |
OR / &%

Give the formula of calculating arithmetijc mean 1},
deviation method in case of continuoug series. 7 Step

TRtz ReremR cFae F-Roaw &S aame 3R
ST T |

22. What are the advantages of sampling Methoq o
collection over the census method? data

@%ﬁ%ﬂﬂﬁﬁ%ﬁﬁﬁwmﬂﬁﬁﬂﬁﬁwﬁﬁs?
| OR / %%
Write the characteristics of a good questj,

Gy ©F AR CIRBPRR for |

23. Briefly discuss the importance of index
o YR FFY HYLF A6 9 |

Ontinuoyg

nna_ire .

nun'lber.
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24.

25.

26.
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OR / §{1
Mention the steps in constructing index number. 4

ToPIT M0 ACHOPTR TCHY I |

Define correlation. What do you understand by positive,
negative and zero correlation? Write with example.
1+1+1+1=4
SO K@ TR | EIRE, YINE AF W e e [ oqmne
CLESUMERERIN
OR / 9341

Explain the concept of scatter diagram. . 4
o @lef 5T {IReTICor T A |
What is range? Write one merit and two demerits of range.
1+1+2=4
e 5 7 RERa @Bl 8 &% 1 ¢ foran | '
OR / Ol
Write a short note on ‘measures of dispersion’. 4

m«mﬂ’am tﬂﬁﬁimﬁ‘ﬂl

Discuss the limitations of median. 4

Determine median for the following distribution : 4

20(21|22|23|24|25|26|27|28

10(11|16(20(25|19| 9 | 6

No. of Workers | 8
e Caa bl
LA
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27. Briefly discuss the merits and demerits of arithmetic
mean. 6
TR Y ARG SE SPIRYPR TIF SACEAL 1 |

OR / 9<1

() What do you understand by measures of central
tendency? | ‘ 1

I Ao T e 7 @ 2
(b) What are the three main types of measures of central
tendency? Define each of them. 1+43=4

@B s Sy W R R R 2 afeeh wigw fray |

(c) Write the empirical relation between mean, median
and mode. 1

Y, TGN S I NG 2P T=o:FD! fran 1

28. Briefly discuss four advantages and two disadvantages of

diagrammatic presentation of data. 4+2=6
fBaq Te B SergIeRR SIRB! R S B! SPIRY TS ScEms= w4 |

OR / &[T
What do you understand by tabulation of data? Briefly
discuss the objectives of tabulation of data. 2+4=6
EWWW%W@‘{W?’@WW%WW
HICEON 41

* & Kk
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